

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



			General De	etails					
Parcel ID:	565-0	010-02990							
Document:	Abstra	Abstract - 916031							
Document Date	nt Date: 07/07/2003								
			Legal Description	on Details					
Plat Name:	WAA	SA							
Sec	tion	Township	F	Range	L	ot	Block		
1	9	60				-	-		
Description:	thenc South	NE1/4 of SW1/4, EXCEPT that part described as follows: Starting at the Northeast corner of said NE1/4 of SW1/4; thence South 8 chains along the Township Road to the Point of Beginning; thence 8 chains West; thence 5 chains South to the edge of the County Road; thence 8 chains East; thence 5 chains North to the Point of Beginning; ANI EXCEPT the Easterly 880 feet, lying South of County Highway No. 615, formerly known as County Highway No. 1							
			Taxpayer D	etails					
Taxpayer Name	e JOKI I	DAVID E & GAYLE							
and Address:	4647 3	SALO RD							
	EMBA	RRASS MN 5573	2						
			Owner De	tails					
Owner Name	JOKI	DOUGLAS LEROY							
Owner Name	JOKI	FLOYD E							
Owner Name	JOKI	JOKI ROBERT D							
Owner Name	JOKI	JOKI SHERIE L							
Owner Name	MART	IN-JOKI TERRI SL	JE						
		F	ayable 2025 Tax	x Summary					
	20)25 - Net Tax			\$1,033.0	00			
	20)25 - Special Asses	ssessments \$85.00						
	2	025 - Total Tax	tal Tax & Special Assessments \$1,118.00						
			rrent Tax Due (a)				
	Due May 15		•		, 	Total Due			
	-		Due October 15						
2025 - 1st Half Tax \$559.		\$559.00 202	2025 - 2nd Half Tax		59.00 2025 - 1st Half Tax D		\$559.00		
2025 - 1st Half Tax Paid		\$0.00 202	2025 - 2nd Half Tax Paid		0.00 2025	- 2nd Half Tax Due	\$559.00		
2025 - 1st Ha	If Due	\$559.00 202	5 - 2nd Half Due	\$55	9.00 2025	- Total Due	\$1,118.00		
			Parcel De	tails					
Property Addre	ess: 4647 :	SALO RD, EMBAR	RASS MN						
School District	: 2142								
Tax Increment	District: -								
Property/Home	steader: JOKI,	DAVID E & GAYLE							
		Assess	ment Details (20	25 Payable 2	2026)				
Class Code (<mark>Legend</mark>)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$37,600	\$164,800	\$202,400	\$0	\$0	-		
	0 - Non Homestead	\$19,600	\$0	\$19,600	\$0	\$0	-		
111		+ - /							



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



				Land De	etails					
Deed	ed Acres:	29.30								
Wate	rfront:	-								
Wate	r Front Feet:	0.00								
Wate	r Code & Desc:	W - DRILLED WE	LL							
Gas C	Code & Desc:	-								
Sewe	r Code & Desc:	S - ON-SITE SAN	ITARY SYST	EM						
Lot W	/idth:	0.00								
Lot D	epth:	0.00								
The d https:/	imensions shown are no //apps.stlouiscountymn.	ot guaranteed to be su gov/webPlatsIframe/fr	rvey quality. / mPlatStatPop	Additional lot Up.aspx. If th	information can be here are any quest	e found at ions, please email PropertyTa	ax@stlouiscountymn.gov.			
			Improve	ement 1 D	etails (HOUSE	E)				
In	nprovement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	HOUSE	0	1,5	24	1,524	ECO Quality / 762 Ft ²	-			
ιſ	Segment	Story	Width	Length	Area	Foundati	on			
	BAS	1	8	16	128	BASEME	NT			
	BAS	1	12	23	276	BASEME	NT			
	BAS	1	28	40	1,120	BASEME	NT			
	DK	0	6	12	72	POST ON GR	OUND			
	OP	0	8	12	96	POST ON GR	OUND			
Bath Count		Bedroom Cou	nt	Room C	ount	Fireplace Count	HVAC			
	1.75 BATHS	-		-		0	CENTRAL, FUEL OIL			
			Improver	nent 2 De	tails (DET GA	R)				
In	nprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	GARAGE	0	1,2	32	1,232	-	DETACHED			
	Segment	Story	Width	Length	Area	Foundati	on			
	BAS	1	28	44	1,232	FLOATING	SLAB			
			Improve	ement 3 D	etails (SAUNA	A)				
In	nprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
_	SAUNA	0	14	0	140	-	-			
Segment		Story	Width	Length	Area	Foundati	on			
	BAS	1	10	14	140	POST ON GR	OUND			
Improvement 4 Details (WOOD SHED)										
	nprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
ST	ORAGE BUILDING	0	21		216	-	-			
	Segment	Story	Width	Length	Area	Foundati				
BAS 1		1	12	18	216	POST ON GR	OUND			
	Improvement 5 Details (ST W/LT)									
			Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Des							
In	provement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft -	basement Finish	Style Code & Desc.			
	nprovement Type ORAGE BUILDING	Year Built 0	Main Flo 10		100	Basement Finish	-			
						- Foundati	-			
	ORAGE BUILDING	0	10	0	100	-	- on			



St. Louis County, Minnesota



		Improve	ement 6 Deta	ils (6X6 ST)						
Improvement Type	e Year Built	ilt Main Floor Ft ²		Gross Area Ft ² E		Basement Finish		Style Co	de & Desc.	
STORAGE BUILDIN	G 0	36		36		-			-	
Segmer	nt Stor	y Width Lengt		n Area		Foundation				
BAS	1	6	6	36		POST ON GROUND				
		Improvem	ent 7 Details	(ACROSS ST))					
Improvement Type	e Year Built	Main Flo	oor Ft ² Gro	oss Area Ft ²	Basen	nent Finish	5	Style Co	de & Desc.	
STORAGE BUILDIN	G 0	22	0	220		-			-	
Segmer	nt Stor	y Width	Length	Area		Foundation				
BAS		22	22 10 220			POST ON G	ROUN	D		
	:	Sales Reported	to the St. Lo	ouis County A	uditor					
No Sales informat	ion reported.									
		A	ssessment H	listory						
	Class					Def		ef		
Year	Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV		Land EMV		dg NV	Net Tax Capacity	
	201	\$40,900	\$141,000	\$181,90	00	\$0	9	60	-	
2024 Payable 2025	111	\$21,800	\$0	\$21,80	0	\$0	9	60	-	
	Total	\$62,700	\$141,000	\$203,70	00	\$0	\$	0	1,735.00	
	201	\$35,500	\$117,000	\$152,50	00	\$0	\$	60	-	
2023 Payable 2024	111	\$18,200	\$0	\$18,20	0	\$0	9	60	-	
	Total	\$53,700	\$117,000	\$170,70	00	\$0	4	0	1,472.00	
	201	\$35,500	\$107,000	\$142,50	00	\$0	\$	60	-	
2022 Payable 2023	111	\$18,200	\$0	\$18,20	0	\$0	9	60	-	
	Total	\$53,700	\$107,000	\$160,70	00	\$0	٩	0	1,363.00	
	201	\$29,200	\$100,500	\$129,70	00	\$0	9	50	-	
2021 Payable 2022	111	\$14,800	\$0	\$14,80	0	\$0	9	60	-	
	Total	\$44,000	\$100,500	\$144,50	00	\$0	4	60	1,189.00	
1		٦	Fax Detail His	story						
Tax Year	Tax	Special Assessments	Total Tax & Special Assessment		nd MV	Taxable Buil MV	ding	Total	Taxable MV	
2024	\$1,105.00	\$85.00	\$1,190.00	\$48,22	26	\$98,959			147,185	
2023	\$1,079.00	\$85.00	\$1,164.00	\$47,61	18	\$88,667	,	\$	\$136,285	
2022	\$1,079.00	\$85.00	\$1,164.00	\$38,24	14	\$80.689		\$	\$118,933	



PROPERTY DETAILS REPORT





Date of Report: 5/6/2025 9:46:53 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.